


1. From the given options, identify the segment
in the sentence which contains the grammatical
error.
Gazing out of the train window as I travelled
upon the country. I was introduced to a new
India.
1. introduced to
2. upon the
3. a new India
4. Gazing out



2. Select the most appropriate option to fill in the
blank.
In my opinion, he is the ______ of all the
brothers.
1. brightly
2. brighter
3. brightest
4. bright



3. From the given options, identify the segment
in the sentence which contains the grammatical
error.
The football team had won the series abroad
after a decade and brings home the trophy.
1. won the series
2. abroad after
3. a decade
4. and brings



4. Select the most appropriate word to fill in the
blank.
I read 'Harry Potter' books because they were
________ by my friend.
1. motivated
2. advised
3. counselled
4. recommended



5. Select the option that means the same as the
given idiom.
To be in hot water
1. To be praised
2. To be in trouble
3. To be unreliable
4. To be depended on



6. Select the most appropriate word to fill in the
blank.
In what ways has progress in human knowledge
________ our environment?
1. altered
2. aligned
3. represented
4. reframed



7. Select the most appropriate synonym of the
given word.
FUTILE
1. Uninteresting
2. Boring
3. Juicy
4. Useless



8. Select the option that means the same as the
given idiom.
Fair weather friends
1. Friends who keep you happy
2. Good company for holidays
3. Friends in good times
4. Friends who are always happy



9. Select the correctly spelt word.

1. Parmission
2. Permmission
3. Permision
4. Permission



10. Select the word which means the same as the
group of words given.
Country treated as permanent home by an
individual
1. Neighbourhood
2. Residence
3. Domicile
4. Dwelling



11. Select the antonym of the given word.
GORGEOUS
1. Beautiful
2. Smart
3. Ordinary
4. Decorative





In the following passage some words have been
deleted. Fill in the blanks with the help of the
alternatives given.
Lions live for around 10-14 years in the wild,
while in (1)_____ they can live over 20 years. In
the wild, males seldom live longer than ten years
as fights with rivals occasionally cause them
(2)______. They typically (3) _____ Savanna and
grassland, although they may take to bush and
forest. A (4) ______ of lions consists of related
females and offspring and some adult males.
Groups of female lions typically hunt together
(5)__________ mostly on large hoofed animals.



12. Select the most appropriate option that will
fill in the blank number 1.

1. caves
2. forest
3 captivity
4. cage



13. Select the most appropriate option that will
fill in the blank number 2.

1. harm
2. damage
3. loss
4. injuries



14. Select the most appropriate option that will
fill in the blank number 3.

1. nurture
2 inhabit
3. grow
4. breed



15. Select the most appropriate option that will
fill in the blank number 4.

1. bunch
2. flock
3. pride
4. pack



16. Select the most appropriate option that will
fill in the blank number 5.

1. consuming
2. eating
3. snatching
4. preying



17. Select the most appropriate option to
substitute the underlined segment in the given
sentence. If there is no need to substitute it,
select No improvement.
He searched for his files across the chest of
drawers
1. in the chest of drawers
2. above the chest of drawers
3. No improvement
4. into the chest of drawers



18. Select the correctly spelt word.

1. Commamorate
2. Comemorate
3. Commemorate
4. Comamorate



19. Select the most appropriate synonym of the
given word.

MANDATORY
1. Advanced
2. Compulsory
3. Lucid
4. Elementary



20. Select the most appropriate option to fill in
the blank.
There is nothing that _______ of us can do to
solve the problem.
1. any
2. every one
3. none
4. no one



21. Select the antonym of the given word.

PAUCITY
1. Shortage
2. Surplus
3. Flexibility
4. Lack



22. Select the most appropriate option to
substitute the underlined segment in the given
sentence. If there is no need to substitute it,
select No improvement.
He do not register his dissent to the proposal put
forward by the member.
1. does not registered his dissent to
2. No improvement
3. did not registered his dissent to
4. did not register his dissent to



23. From the given options, identify the segment
in the sentence which contains the grammatical
error.
The department will initiate a campaign to
promoting organic farming across the State.
1. will initiate
2. across the State
3. to promoting
4. organic farming



24. Select the word which means the same as the
group of words given.
A collection of poems
1. Rhyme
2. Anthology
3. Verse
4. Stanza



25. Select the most appropriate option to
substitute the underlined segment in the given
sentence. If there is no need to substitute it,
select No improvement.
Evolution is the gradual change over the physical
and mental make up of species
1. from the physical and mental make-up of
species
2. in the physical and mental make-up of species
3. No improvement
4. on the physical and mental make-up of species
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